Max Marks : 150

All India Trade Test - 2024 for Crafstmen Training Scheme (CTS)
Trade Name: Solar Technician (Electrical) Year 1
Year: 1st Year

Exam Date :
Exam Time :

Note:

1. Tick the correct option out of four alternatives provided
2. All questions carry equal marks (2 Marks each)

3. There is no negative marking

Sr. | Client Question

No. D Question Body and Alternatives Marks Negative

Marks
Trade Theory

1 What is the condition for resonance circuits? 2.0 0.00

TG idhe & fow s =ffa g2
Al xc-r
XC=R
f‘z XL=XC
XL =XC
A3 XL =1/2mf,
XL = 1/2nfy
A% XC = 2nfc
XC = 2nfe

Trade Theory
2 What is the name of phase to phase voltage? 2.0 0.00

ol A o Aecsl BT A9 T 82

.A] Phase voltage
Bl sl
.AZ Line voltage

AR dlees

.A3 Phase to line voltage

el § 15 diecs
54 Line to phase voltage

AE ¥ ol dlecs

Trade Theory
3 What is the unit of magneto motive force? 2.0 0.00

JaPhd 90 | SHIS 187

fM Tesla

Tesla

Weber per m?

Weber per m?

53 Ampere-terms

Ampere-terms

4 2
Ampere-terms per m

Ampere-terms per m>

Trade Theory



What is the unit of capacitance?
PR P PR AT

'A] Henry

‘_AZ Farad

s

Ohm

3\

54 Coulomb

A3

HAaH

Trade Theory

What is the equation for calculating the power in a 3 phase AC system?
T o B T R gomet | Jifad &t 10T & fog gt @ g
AlLp=3 v 1 watts

P=+3 VI IxC
fA‘z P=3Vyp Ip watts

P=3VpIpdlc
A3 p=3 V| I CoSQ watts

P =13V I; CoSQ dlc
A4 p=3 V| I CoSQ watts

P=3V I CoSQTIE

Trade The_or; _—

What is the name of the joint as shown in the figure?

TR BT T T ¢ S b R e g2
8

pr——"

—————
17 N\~ 1]

I ——

_Al Britannia joint
. g
.AZ Western union joint
I g oy
53 Scarfed joint
g E .g
_A4 Married Joint
[EEURRASHES

Trade Theory

What is the angle of knife to the axis of the core white skinning the insulation from the cables?

Faeh  FYAIF HI HH B THI HR P 3H&] TR TNE BT HI0T 1 82

Ao

2.0

2.0

2.0

0.00

0.00



10°

A2 00

20°

.A3 30°

30°
54 40°
40°

Trade Theory

What is the name of the part which marked as X' shown in the figure?

I I o7 4 =1 ¢ o o | x & = u # Rifka fearman g2

e

A

! Neck

=

62 Head

RR

'AS Shank
<

_A4 Body

IRR

Trade Theory

Which tool is used to cut an internal (female) thread either left on right?

5 IueBRUT BT 3idRes 4T BT 4T o ST | 3T HTe & g i S g2

fM Dies

S

AZ Die stock

3K €id

_AS Taps

<
_A4 Vices
CIESE
Trade Theory
What is the expansion of MCCB?
MCCB &1 R J 32

{\1 Metal Case Circuit Breaker

Metal Case Circuit Breaker

.AZ Metal Clad Circuit Breaker

2.0

2.0



Metal Clad Circuit Breaker

{\3 Moulded Case Circuit Breaker

Moulded Case Circuit Breaker

64 Moulded Clad Circuit Breaker

Moulded Clad Circuit Breaker

Trade Theory
What is the name of the figure shows?

[EECICUIE I K

IWAY INDICATOR \ASTER
BELL

saiig
M_JFL

SECTION 1 SECTION2 SECTIONS
BELL1 BELL2 3
Ry 4 R Ry O
THERMISTOR

1|1

AUTOMATIC
BATTERY

24V, HPUT

{\1 Battery charging unit

Y&t =i gfae
A2 L .
.~ Schematic diagram of loop in method

fafYy & qu &7 TS R

53 Practical way of loop in method

fafd o qu &1 AeIR® adie

A4 . F
. Automatic fire alarm circuit

RT3 e wfdhe

" Trade Theory

What is the height of the switch board from floor level?

HfSTd R ¥ Re= IS 31 e fbait a2

Trade Theory
What is the current rating of single pole MCB?

RiTeT Uil MCB @1 e YT a1 22

Al 051060
0.5t0 60 A
A

25t060A
5060 A

A3 101060 A

2.0

2.0

2.0



10 to 60 A

A% 1010100

10 to 100 A
Trade Theory

14 14 What is the maximum load permissible in a power sub circuits? 2.0

TeR 94 Widhe A e dls AT &1 82

Al 800 watts

800 watts
A2 1500 watts

1500 watts
A

3 2000 watts

2000 watts

54 3000 watts i

3000 watts "
Trade Theory
15 15 What is the diagram shown in the figure?

o & feraman o e w82

N

250 150| A 300

l - 3
-

600

‘_Al Wiring diagram

AR BT a1

A2 Installation plan

RITGT ST
f\S Layout diagram

ASMIC 3R
é4 Circuit diagram

Hldhe 3meE

4 B ¢ Trade Theory

16 16 What is the diagram shown in the figure? 2.0

o H femma o RE e 22

LAMP-HOLDER
WITH LAMP

1

S
|
|

TWO-WAY SWITCH TWO-WAY SWITCH

A ! Wiring diagram

0.00

0.00



ElRIRICaEC
;AZ Installation plan

RITGT A1
?'\3 Layout diagram

AT 3T

54 Circuit diagram

Hfbe sma

Trade Theory

What is the name of switch in the figure shown? 2.0

el & Reg w1 @ g2

Al

.~ 6A lway surface mounting switch

6 TRIIR 1 IR ARG WIS feT g

€7
6A 2way surface mounting switch \
6 THIIIR 2 X1 TR AIS e e : b;
A2 \ ’
: ’ A3
.A3 6A intermediate switch

6 THIRR SexHifeue g *Q/
A4 | 6A DPIC switch
16 TR €1 ot o g
:77 N Trade Theory
In the figure what is the name of the part marked as 'X'? 2.0

o x % wu B iR Um e wn A g2



A2

PORCELAIN

4 firgt
A3 HOLDER

R

,A4 FIXING NUT

i e

Trade Theory:

What is the temporary wiring used in internal domestic installations?

TR TR RUTOT H LI 1 S aTetl SR araiT ar 82

Al CTS/ TRS wiring

CTS/ TRS TN

52 Metal / PVC conduit wiring

Tieq/ gt 9t sy arafa
f\3 PVC casing And capping wiring
0 ot & R SR B

A

4 Cleat wiring

wire aEafaT

Trade Theory

What is the minimum depth of junction boxes used in roof slabs?

Bd P W W ITNT fHY ST A1 SIaRM I B FATH RIS 31 87

A

! 90 mm

90 mm

A

2 85 mm
85 mm
A3

~ T 65mm

65 mm



A4

. 45mm
45 mm
Trade Theory
21 21 What is the diameter of metal conduits available in commercially?

RIS 0 A I YT b GeI T T T 82

‘_Al 20 mm to 64 mm

20 mm to 64 mm

Al

2 16 mm to 60 mm

16 mm to 60 mm

.AS 12 mm to 64 mm

12 mm to 64 mm

A4 6 mm to 60 mm

6 mm to 60 mm
Trade Theory

22 22 What is the minimum bending radius of conduits?

YIS BT AqH b e T 8?

52 7.5cm

7.5 cm
:A3 10 cm
10 cm
{M 12.5cm
12.5cm
__Tr:ge Th(i_ory

23 23 What is the standard value of insulation resistance'as per BIS?

o 3T TH & ITUR SYAH URRIY BT A 7ol 31 82

'Al No. of points in the circuit /50! MQ

Fihe H 3! &1 W&/ 50! MQ

.AZ 50/No. of points in the circuits

sorgfde & 3l BT g
1/500 part of the circuit current

1/500 TIEH 310 Jfhe Hic

_A4 50 ohms

50 3

A3

Trade Theory

24 24 According to IE Regulations, what is the resistance of earth continuity conductors in medium voltage domestic
installation?

1 E fafrm & 3rgR Aerm el BRe R & gedt Y FRaRdT dhgaes) &1 ufadiy @ 82

Should be more than one ohm

T 3 3 3| g ey
52 Should be less than Ten ohm

< 3 A HH T AR

,A3 Should not be more than one ohm

T 39 31 Tt e =y

Al



25

26

27

28

25

27

28

64 Should not be less than one mega ohm

T A 30 | A T g TRy

Trade Theory

Reading errors caused by looking at the pointer from an angle what is the error?

FHIT Y g B 3 F PRU TG H IR 72

A

1 .
Device error

feara e

{\2 Influence error
Tya Ife

:A3 Switching error
Rafmafe

?AA Human error
Ara e

Trade Theory

What is an example for absolute instrument?

FRTe Treq & R0 T IerRur AT Y

Voltmeter

SrecHieR

:A2 Kilo watt hour meter
fopretiaTe He Hiex

53 Galvanometer

e

64 Ammeter

wieR

Al

_- rade Th;ory

What is an example for integrating instrument?

JUPRU B! THIHd B P 17T Th I&[E0 1 87

{\1 Voltmeter

iR

{\2 Kilo watt hour meter

fraare e Hiex

63 Galvanometer

eI

54 Ammeter

iR

Trade Theory
What is the equation for binding the deflecting force in a PMMC meter?

PMMC Hier § faQuer) s Tiem & forg gefie<ur @ 22

.Al F= BILN Newton

F=BILN Newton
A2

F=BI12L?N Newton

F=B12L2N Newton

3 257 N2
F=B~“ILN“ Newton

F=BZILN? Newton

2.0

2.0

2.0

0.00

0.00



29

30

31

32

29

30

31

32

A4

F=BI’LN Newton

F=BI’LN Newton
Trade Theory

How to connect a multiplier resistance to a voltmeter?

FreeHiex & O UfeR1Y HT B SIS S

Al Parallel to voltmeter

AreeHiex & GAMIR

62 Series to voltmeter

e deeHier & forg

AS Across the line

R w
64 Series to the line
G P forg e
Trade Theory

What is the name of the instrument shown?

Jre T ATH 82

ol FIBFL Lig

.A ! Energy meter

FoifHieR

A2 .
.~ Dynamometer instrument

SR O

'A} Galvanometer

e

_A4 Whetstone bridge

O_Eu‘ A gl
Trade Theory

What is the example of low resistance?

B UfRIY BT STeR 1 22

?M Resistance of a armature in DC shunt machines
3 Tt xic # SR BT ORIy

?A‘Z Resistance of field winding in DC shunt machine
3t ot e 7= A wies arzfEn &1 ufeRiy

{\3 Resistance of an incandescent lamp

T UG &ue & URRIY

A4 . . - .
. Resistance in between the open circuited terminals

Tl gbacs cial & d ufaRiy

Trade Theory

Which one is the example of high resistance?

I UfeRIY BT ISTERUN HI9 I1 72

2.0

2.0

2.0

2.0



Al Field resistance of a DC series machine

T S Y sigan 939 & &7 ufaRiy

{\2 Ficld resistance of a shunt machine

TSI 2ie 7Y & &7 ey
A3 Insulation resistance of equipment
YRR T $YA TRl

64 Resistance of an incandescent lamp

T AUEI Eus & TiRiy

Trade Theory

Which type of instrument is used for the measurement of low resistance value?

S YfoRIY HeU B AT F oY 6 TR & SUSRUT ST SUTNT fham Srell 32

?M Series type ohmmeter
RINECEE IR TIEN

:AZ Shunt type ohmmeter
e TRy fmHieR

53 Multirange series type ohmmeter

Hed ol TGRS <18y SfiHieR

'A4 Megger

TR

Trade Theory

What is the formula for calculating the shunt resistance R H?

Tie ORIy B 70T S oI G T B2

Al Rey = Igy RM/Igy
Rep = I RM/lgyy
A2 RSH = IM Rgjy/lgy;
RSH = IM Rgpy/lgy
A3 Rgy = IM Ryy/Igy
Ry = IM Ryy/Isgy
A Ry = IM IRy

Ry = M Ig/Rgy
Trade Theory

Which material is used for the high current shunt of switch board instrument?

e 9IS JUHRUI & == 99 e & oY oo Il o1 IuaT e o 82

fM Magnesium
EURIE]

_AZ Tungsten
ARe
A3 Cobalt

EAEIG

A% Nickel

fea

Trade Theory

What is the power in a balanced 3 phase circuit?

T& Ao oiF T wfdbe & wifd a1 32



37

38

39

40

37

38

39

40

AL Eplp Cos ¢
Eplp Cos ¢
A2 2 BpIp Cos §
2 Ep Ip Cog &
A3 3EpTp Cos
3 EpIp Cos ¢
A4 2E Tp Cos §
2E; Ip Cos ¢

Trade Theory

What is the equation for calculating the power factor of a single phase AC circuit? 2.0 0.00

THd Y T Fidhe & R SRS B TUAT P T FHIHR0 1 82

fM PF = Power/EI

PF = Power/El
A2 pE - El/Power

PF = El/Power
A3

PF = E2 I /Power
PF=E2 1 /Power
4

PF = EI? /Power

PF = EI? /Power
Trade Theory
What is the other name of KWH meter? 2.0 0.00
KWH R &1 SHR1 A9 71 82

{\1 Power factor meter

TraRtaeR Hiex

62 Watt meter

{\3 Energy meter

ol Hiex

A4 Multimeter

Heeiex

Workshop Calculation Science

Which one is non-metal? 2.0 0.00

ST T B A 72

.A ! Mercury
URT
.AZ Graphite

Ige

.A3 Brass

daa

54 Iron

et

Workshop Calculation Science

Which metal contains iron as a major content?

0 Q g u1g & v 9t b U d g g gy



:Al Brass metal
e eng

éz Bronze metal
Sl eg

:A3 Zinc
TS

:A4 Ferrous metal

KIERIG

Workshop Calculation Science

414l What is the S.I unit of heat? 2.0

T &I TS, IHTS FT 52

:Al Calorie
Calorie

:A2 Joule
Joule

:A3 Centigrade heat unit
Centigrade heat unit

54 British thermal unit

British thermal unit

Workshop Calculation Science

2 L2 What is the value for specific heat of water? 2.0

Tt ) fafRrse ST BT A R 82

Aly
4
3
A3y
2
At

1

Workshop Calculation Science

43 43 Which one is the radiation method of heat transmission? 2.0

o] RN B ST I Bl g2

Al

. An iron rod is heated with one of its end and heat transmitted to other end
T IS B S B ST Ueb R Y 719 fapam Sireln B 37R g R4 ep ST BT TR fpalT Sfrern B
§A2 Cold water goes to the bottom from top while on heating the water
T T 7 TR 3UST U SR & A2 Y SR ST B
:AB On heating gases, heat transmitted to surroundings
A 1 T HRA TR, T BT IR AR H g ¥
4 The heat from sun travels through the space

T A AT Sfcifel b HIEH A A Bl §

Workshop Calculation Science

A

44 44 What is the boiling point of water? 2.0

Tt T YT T Bl 82

0.00

0.00

0.00



Al
. 0°C
0°C

A2 32°C

32°C
A3
. 100°C
100°C

.A4 212°C

212°C
Engineering Drawing

Identify the conventional symbol of material?

[ & URURS Uit 1 Ugar?

EDNG 1811002

A

! Lead
KN

A2 Steel

BRG]
{\3 Glass
P

A4 Porcelain

= fedt

Engineering Drawing
Identify the conventional symbol of material?

JA & YRURS Uelieb b1 g2

v # ¥ &

EDNG 1811004

:Al Concrete
wita PriwH
A2 Steel
|
:AS Wood
SEl
?M Glass
E3E]
Engineering Drawing

Identify the conventional symbol of material?



> » L™
¥ | 4

L 2 » »
L 2 .
> i ¥ >

EDNG1811005

{\1 Steel
EL3IG)

:AZ Wood
SEaS)

:A3 Glass
EE]

:A4 Concrete

39

What is the trimmed size of A4 sheet?

A4 Rite &1 fon fora gan SR a1 72

Al g41x 1189
841 x 1189

A2 594 x 841
594 x 841

A3 210 x 297

210x 297
A

4 148 x 210

148 x 210

Engineering Drawing

Engineering Drawing

Which drawing dimension is correct as per IS standard?

IS A & SFTIR B T ST A Tal 82
Al
i
B
i
#
&0
A2
2
w
80

A3



50

51

52

50

51

52

A4

Identify the name of prism?

e A e U ST ST AT R

Engineering Drawing

ECNGA 12008

Al Rectangle prism
3T forsH

A2 .

.~ Square prism
IR fUoH

53 Triangular prism
Brepiui e

_A4 Hexagonal prism

RERIIE R

Fill'in the blank with correct future tense of verb. “We

forar® I8t yiaw &1 & ey Rad =M W “we

to the zoo after Breakfast

{\1 went
went
2 .
are going
are going
_A3 had gone
had gone
4 will go

will go

Fill in the blank with correct word. “They

Employability Skills

Employability Skills

good friends”

a7 98 2sg W “They good friends”

to the zoo after Breakfast “

2.0

2.0

2.0

0.00



am

A3
©T are

are

Employability Skills

Fill in the blank with present progressive tense of the verb. “The train

through the tunnel”

fopa1 & aaam yrfaRiia et & 91y Rad ®IM W | “The train through the tunnel”

! passed
passed

2. .
is passing
is passing

,AS had passed

had passed

4 .
was passing
was passing

Employability Skills

Fill in the blank with proper interrogative adjective. are you,going?

Ifed SeRMfea Ao & Ty Rad R R are you'going?

fM Who

Who
.:AZ Where

Where
A3 Which

Which
:A4 What

What
Employability Skills
Fill in the blank with proper pronoun. “I made this cake

o =i 7 3fed IS & Y W1 <1 made this cake »

! myself
myself
2 yourself
yourself
A himself
himself
itself

A4

itself
Employability Skills

Fill in the blank with proper pronoun. “She made this cake

o =i 7 I IS & 1Y W31 “She made this cake ”



Al fiself
itself
2 myself
myself
:AS herself
herself
A4 himsels
himself

Employability Skills
Fill in the blank with proper reflexive pronoun. “She has hurt ” 2.0

raa =i 7 3o ufcad! 98-8 & Y 431 “She has hurt ”

Al myself

myself
'AZ herself
herself
53 himself
himself
_A4 itself
itself
Employability Skills

Fill in the blank with suitable adjective for the given sentence “The little girl’ss..... eyes revealed her mischief” 2.0

%Q RINGIER) Ed ﬁf@ [SERCS) faRIvor & 1Y Rad R 1Y “The little girl’ 8. eyes revealed her mischief”

Al chubby
chubby
.A2 weak
weak
3 .
short sighted

short sighted

A4 winkling

twinkling
Employability Skills
Fill in the blank with suitable place preposition. “My house is the third floor” 2.0
JUGF R g & 1Y e RIF 4R | “My house is the third floor”
fM at
at
A2 .
~Tin
in
A3
. on
on
4 under
under
Employability Skills
Fill in the correct question word. is the speaker at the function?” 2.0
T Y e W1 | = is the speaker at the function?”
A

! What



61

62

63

64

61

62

63

64

What

52 When

‘When
53 Why
Why
A Who

Who

Low level language is also called

g RS U B “ﬁﬁaﬁ%

! source code
o B
{\2 middle ware
HEOR]
3 .
machine language
TR W
4
assembly language

CRERIRIIL)

Pronunciation refers to

_Al diphthong
Yo TR
2
consonant
o
‘_AS punctuation
[EREIE

4 production of sound

& P I

Re-arrange the following set of words into meaningful sentence. “teacher / school / worked / she / a / as’

Teal & MR e & Irdfe areg o bR & afRUd B3| “teacher / school / worked / she / a / as™

,Al School'worked as a she teacher

School worked as a she teacher
A2
"~ She worked as a school teacher
She worked as a school teacher
A3
.~ She teacher worked as a school
She teacher worked as a school
A4

- Worked she as a school teacher

Worked she as a school teacher

Rise and fall of pitch of voice is called

3TaTsT 1 o 1 I 3R R

Al
. vowel

Employability Skills

Employability Skills

Employability Skills

Employability Skills

ﬁw%

2.0

2.0

2.0

2.0

0.00

0.00



TR
2 intonation
ST pI SAR-deld
3
consonant
Eep)
4 oy
pronunciation

SR
Employability Skills
65 |65 The word that expresses a sudden and strong feeling is called . 2.0 0.00
TE WS ST 3D 3R Fogg HIGHT g Bl & S9 ETRSIRIN

Al punctuation
form fg
2 interjection
[ERERIEEICES
3 L
conjunction
GRIEEERSs]
,A4 apostrophe

TRt

Employability Skills

66 66 When you greet higher official’s such as Teacher, Instructor or Supervisor, you should use . 2.0 0.00
S 3174 e, Uiierds a1 wHdeie S 3= SfISIRAT o1 SHfdTeH HRd &, df ST B ITINT H=AT

A

! Good morning
TS AT
2 Hello

Gl

A

Employability Skills
67 67 Which is a silent letterin the word “ANSWER”? 2.0 0.00
“ANSWER” ¥[eg H BI- IT b 31&R §?

s
R
M
E
Ms
S
o
W
Employability Skills
68 68 Which one is a “Do’s” of discussion etiquettes? 2.0 0.00

Taf & RISERI & ¥ SH I “Do’s” 32



fM Loose your temper
SO M7 @Y

{\2 Listen to others
TR B

A3 Talk about irrelevant details

KPEISINCACENYECINEE G
64 Use impolite or rude language
33 AT ST HINT BT STUNT B

Employability Skills

Which one is a “Don’t” of discussion etiquette?

A PRIR T “Don’t” %?

fM Be open minded

[EEIREIRCEE |
52 Use moderate tone

T TR BT UG B

53 Listen to others

A4
. Argue unnecessary
SATARIS T5H DY

Employability Skills

Which one is a brain of computer?

PR B AR DI 18?2

{\1 Keyboard
GACIcH
CPU

didtg

{\3 Monitor

AR

* Hard disk

TS f3wp

A2

A

Employability Skills

Which one.is a cardinal number?

FISTA TR B AT 82

53 VII
vl
_A4 X1
X1

Employability Skills

Which one is a cardinal number?

FIETA TR B AT 82



73

74

75

73

74

75

Al One
Th
Al

2 Fifth
.
A3 Eighth

SICEL

64 Second

QT

Which one is an exclamatory sentence?

B I fIeaTesiys g g2

fM What a beautiful house it is!
What a beautiful house it is!
‘:AZ It is a beautiful house.
It is a beautiful house.
f\3 Is it a beautiful house?
Is it a beautiful house?
:A4 Your house is beautiful.
Your house is beautiful.
Which one is in active voice?
e Mmarst & & [ R?
:Al Ram has passed the exam.

Ram has passed the exam.

Al

2 The ball was caught by him.
The ball was caught by him.
A3 .
7 The book was being read by her.
The book was being read by her.
54 We were driven home by dad.

We were driven home by dad.

Which one is in passive voice?

fRf%ry e H P A1 2

.Al Mohan is painting a house.
Mohan is painting a house.

‘,A‘z She was reading a book.
She was reading a book.

A3 .

.~ Her birthday was celebrated by us.
Her birthday was celebrated by us.

,A4 T have seen that movie.

1 have seen that movie.

Employability Skills

Employability Skills

Employability Skills

2.0

2.0

2.0

0.00

0.00




Solar Technician (Electrical ) -1 year (Eng) SET 2

Question Number

Correct Alternative position

1 A2
2 A2
3 A3
4 A2
5 A3
6 A3
7 A2
8 A3
9 A3
10 A3
11 A4
12 A1
13 A1
14 A4
15 A3
16 A1
17 A1
18 A3
19 A4
20 A3
21 A1
22 A2
23 A2
24 A3
25 A4
26 A3
27 A2
28 A1
29 A2
30 A2
31 A1
32 A3
33 A2
34 A3
35 A1
36 A3
37 A1
38 A3
39 A2
40 A4
41 A2
42 A4
43 A4
44 A3
45 A2




46 A4
47 A4
48 A3
49 A1
50 A2
51 A4
52 A3
53 A2
54 A2
55 A1
56 A3
57 A2
58 A4
59 A3
60 A4
61 A3
62 A4
63 A2
64 A2
65 A2
66 A1l
67 A4
68 A2
69 A4
70 A2
71 A1
72 A1
73 A1
74 A1
75 A3
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